
Q1) a) Explain With One Example Each Minterm and Maxterm. [5]

b) Design a Half Adder Circuit With Truth Table And K-Map. [5]

c) Simplify the Following Algebraic Expression Using Boolean,
Theorems F (A, B, C) = (A + B) (A + C) [5]

OR

Q2) a) With the Help of K-Map Reduce the Following Algebraic Expression.
F (A, B, C, D) = M(0, 1, 2, 5, 7, 8, 9, 10, l3, 15). [5]

b) Mention the Types of Encoders, Enlist Any Two Applications of an
Encoder. [5]

c) Design a 3 : 8 decoder and Draw Its Logic Diagram. [5]

Q3) a) Design A Mod 2 Asynchronous Up Counter. [5]

b) With Neat Diagram Explain Ring Counter. [5]

c) What Is A Shift Register? List its Types and Draw the Data Movement
Block Diagram. [5]

OR
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Q4) a) Draw the Timing Diagram For MoD3 Synchronous Down Counter.
[5]

b) Design A Mod 10 Asynchronous Counter. [7]

c) List The Steps Required For Designing A Counter. [3]
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